oogood

Ooon

Jooguoodoodboogto
ooty

goboob OO 00 o0do

o0 0o0oboobo
gogo  04T2096D
ob 00 ogod

o200 30



0 O

1 00000 .. ...,
.2 00000 ...
1.3 000000 ... ...

R1 0OO0OOO] ... o
R2 ODOOODOO| ... .o e,
R3 0O0OO]. ...
R4 OOOODOO| ... .,

3 Doooooooooool

4 0000000000000000])

FEELEEEEEEEEEEEE
bl O0DOO0OO0000O0O0OO000O0OOO0)........
.............................
b.3 OOOO0]. .. ... . .
b4 OOO0ODOOO]. . ...,

6 ODooOooooo]
b1 DOOOOOOOOOOOOOO]. ... ..........
6.2 0OOOO] .. ...
6.21 kDOOO|. ... ... .
6.22 0OOOO] .. ...
.23 00000 .. ...

11
11

13
13
14
14
15
15

16



1 00O

1.1 O0O00gdo

0000000000000 D0O0000000000000O00DOOn0
O00O0o00.00b00obO00bobo0bO0oobOoboooobooobog
0000000000000 00oODO00DOoO00. 000, 000004
OO00000000bO0obOO0bO0.0b0,00b00b00obDU0obDoOooOO
00000000000 DOO0DOO0DO0,0b0booooooooo,d
OO000000O00O0ooO0o00. ooobo0oboboboboooooo,
0000000000000 0O000000O0D000O00ooooDooon.

2006 O O Stephane Musy 0 00 Emre Telatar 0 00 OO0 000000
O0000D0ODODODODODOODOODOODODODOODOODOO). 000,00
Oo0oobOooo0oboooooboobobooobogooobOob.oOo,oo
0000000000000 0000O00000Oo00oDOo.ooooog
OO00oo000oooooooooooooooooooo,onoooog
0000000000000 0000O00O0DO.000,000000
OO00000000D0O0D00D0D0DO0DO0DOOoDooooDoooood
O00000.000,0000000000000000000O000O0
O,00000000000000000000000O0000O0O000d
Oo0ooooooo.

1.2 OOoOgdg

gbobood,gbbuoobobboodbbuoobbobbooobboaon
gobbbbuoooogobbbob.og,bo0doogooboon
gbbooboboboobbbooo,gbbuoobbuoobbuoobbodab
goooDoog.

1.3 UOooggg

oobobobooboobobo.b0b20b0,0000000000O0
gbobobooo. g3, gobbobooodgooboooonobn
obog,b4000,0000000000DLDO0DOODOODDO
gobobobo.gsboo,0bbobbbboddgoooooobboobn



gobboob.0e00g,ggooobbbbbouooooog. boo,
groboobogoon.



2 OO0

21 OD0OO0OOOO

0000 A>0000,00000000
>\LL‘

_ A

P(X=z)=e"—

000000 NODOOOODOOoOooOo (2.

22 QO0O0OO0OO

gbooodbbooboobbuogobooobooo,ggbobogn
gbbbboooogbbbooo.bug,gobbobbuoooobobn
00000000000 0.00000ooooooog {A@gt>o030,
ooooboooooo,0ob0oboaboboboboooogo.

1. A)0 [0,4)00000000000000000000,s<t00
0,A(t)—A(s)0D00 (s,)0000000000000.00,4(0) =
0000,

2. 00bb00ooboobooobo,oobbooboobboon
gboboboogoobobooagd.

. 0booo¢tou, b -000000gooboboogd

A n
P{A(t—i—T)—A(t):n}:e)‘T( T‘> n=0,1,2.. (2)
n!
Oo0o0,00000000 AMMO0000O00O0DOO0O0.

O1o000bob pOO0DbO0ODbOO0ODO0ODbOODOODbDOOn
gbooog.

23 0000

0000 A>0000,0000000000
P(X =z)=Xe ™ (3)

000000 NODOOODOOoOOoO (2.
go,0gbboobbogbbouogbuodgbuogbogoooboon.
g20000000000000000O0O0O0OOODOODOO.



77777 350

®)

25

probability P(X

150 \:‘\

function of probability density P

0.5

U1 goobobod g 20000

24 000000

gbooodobbog,ggbbogoboooboooboobboon
gobbbobbbououooooobbooboo.bbobob,obbbo
goboboogooboo,bbboooobobooooa.

O00000¢t=[0,00)00000000000,0000000000
goooogg.

N(): 00t0000000000000000000 [packet]
a(t): [0,)000000000000000000 [packet]
4(t): 0,0 0000000000000000000 [packet]
7,:i00000000000000000000 [se
00,00 0,00000o0on
= A0 (4)
0O0000. A000000000
A= lim A, (5)

gobo. oo, 0o0¢«0oboooobobuooooboboooon

(6)



ooooo. ;000000000

T = lim T; (7)

t—o00

goo.
00, 00+000000000000000 NG =000000,0
goboboooobbboooobobbooo,ooobbroon

[ Ny =3y, 8

O0000. ®)0D000oooooo

t O‘(t)
IR =

Oooboo.0o00,000b0t¢t0boobobboobonobOobg N
gooo

Nt:)\tj—;g (]‘0)
ooooo.
O00,N(#) >0000
a(t)
ZT</ Hdt < 3T, (11)
=1
goooo,ooogoon
Bt) o alt)
OV T a2 T
t = p() t = at)
(t)
t) T
a S S MeSAT (12)
=1
ooo.
B(1)
0000000000 lim 22 = A0 lim, ;,(;)T_TDDDD
oo,000ooboooon
Jim N, = N = AT (13)

goo.
(13)00ooooooooooo.



3 Uuoooooooboo

gbboodbboobbuoobboobob.boobbuoobboaon
gobbobbbouodooooooobboob,0ob,ggooaooboo
gboogo.gb,bogbobuoobbodgbooboboobbod. ban
gbobogoboogb,boobbuooobbuogbbuooobboon
gbbbooda.obbodg,buoogbobbbooobbbooaob
O.00b0bO,000b0bo0oboo A0b0bbobobobobboboooo
gbbogobo.bgdg,gubboboboobbodobboo,odb
gobboobobobouooooooobb.ooooooboboob,o0bo
gbbooobboodobb,bodbooobbobbuooobbodab
g.030b0000bbbuooooboboouoonon.

obo,0bo0bgoob.0oboobuooboobooboobob
gbobuooooboboogobboboogoobbogo.

00000 b,00000000O0O0OOO D, 00000000 Dy
gooo

D=D,+ D, (14)
ooooo ().
e BEVRATL
A YPr EEH
?gggﬁ R sl mER | SE

g3:00bobood

4 0O000O00O0O0O0O0OO0OO0O0O0O0O

00000, Stephane Musy O 0 Emre Telatar 000 0000000
oo0ooooboobooboboooboobooboboooboooo.
OO000O0o0Oo0ooO, 00000000000 oooooooboooooon
oooboooooobooobooo.



00, n0000000000000000000D0O0000O0O0 T(n)

0
T(n) =D +nk [sec] (15)
ooo.

0000000 kD >0000. 1/klpacket/se] 000000000
0oodd. poodooooooo,0dddodoooooooooon
Oodooooooooooooooooooooo.oooo bogo
Ooooooooooooooooooooooooooooo.oon
000 1/k0000000,00000000000000000000
A0 )\<%DDDDDDDDDD.DDD,DDDDDDDDDDDDD
ooono.

00000000 T(r) 00

T(n+m) <T(n)+T(m) (16)

oboobboo.obb,bo0bbooboobboobuoobbo
oboobobooboooboobo.obo,boobooobobooobdg
OO000 MusyODO Telatar OO0, 00000000000000000
oboobobooboobooobobuoobbobboobboobobo
obooobogobobooobboob,ob,obboobbooobn

gbobobouoooon
D

_ 3
D>°
2(1— M)

(17)

00000000000 i
000000000000000,000000000000.

o UUboooooooooogn

goboboooboouoooooboobboooooooooboo
g.ggbbbooodbbboodg,ggobbbuoodobbbooobob.
gbooog,gubboobbodboogbobooboooboon
gbobbooodgbobbodaod.

5.1 UO0OOOO0OOOO0obOuobouoooboon

oo, 00boooobobobooobbboooogg A =10k =
02,D=10000000. O00b0o0gboooboobooobboobob,bod

7



gbbogbobooobuodgboodgbbuoooboobobooogb,o
gboogbobooboobboobobuooboboob.ooboon
gbbogdobbodoib oobuogg,gbbogbbuoobboon
gobogboobogo.bog,goobbuooobobobooboobootb,
gboogbbuoggbbuooobb,buoobbodobbuoobboon
gobobogooobodad.
obobodboob4000.04000000000000 1240
gogogleooogg.ooooouogoobobobooboooooboobn,
gbbbuodgob 1eobbuoooobbbuoooobobooogbn.
ooboobobooboobooboobo e, DOODOOODOODODOOO
gbobboogobbbuoogbbboooobobodaod.

180

" Ave =124 Max=169 ——

160

140

120

100 |

80 r

packet number

60 r

40 1

20 |

O 1 1 1 1
0 200000 400000 600000 800000 1e+006

t [sec]

04 00000000000000 (M =1.0,k=0.2,D=100)

5.2 00O

00,0000000000000000000.0000,00000
000.:00000000000#0000000000000 T(n,) =
D+nk0000,000000 ™™ op0.000,00000000

i



gboooboo

N T(n; N (D +nk
hrn Ez ]1\[ (n) _ hm Ez l(N +n )
N—oo Zz:l n; N—oo Zz:l n;
= Jim (5 y”%+@ (18)

gbobO.buoodgobbooogbbobog,bgogbbboogaob
oboboodb aOobooboboooboobobobobooobooo.

1
TN < (19)
NZ 1”@ /\
b, gttt oouootoouoooouood
oo oooooooouoooooo. odgo
00000000000000 BO
AD

_ 1 X
B=lim —Y n= 20
R DL e 20)

0000000oooo.
00:00000000000000000000000000000
00, 00000000000000000000000.
00,0000:000000000000.00000000000 n;
00000000,i00000000000000000000000
0000 A1 0 figes = AT(n;) 00000.000,my >n; 00000
00000

goo

AD
1 -k

gbobogb.bodd.+10000000b0b0bboodl ngg O

77L7;+1 = /\T(?’Ll)

D
< MD+1—Ak
D

DY (22)

k)

9



gobo.0obo
AD

11—k

00000000.0004000000000000000 (21)000

0000,00000000000000000 (23)0000.
00m0R,0000000.A,,0

ng < Njgpp < (23)

Niyr = Enigal
= ZE[nHD |n; = n|Pr{n; = n}
= Y _ AT'(n)Pr{n;1 =n}
= Y XD+ nk)Pr{n;1 =n}
= AT(7) (24)
gobooooog.obobobototooooboootooooooooogon
oooooooooooboooboooooooooooooboooood

go.
n+>n00000000000 (2)0O000

D
77: 2
n<1_)\k (25)
goooo,ogoon
D
_ AL 9
nz+1<1_)\k (6)

gob.0d0,b0bn =1000000000000, 0000000
gboobooggn

o AD
im n; =
T T Tk

goboboooobobuooooboobog.

gboboodobboboboobba,gouobbuobbooobboaon
gobobobobobobobooooobobboobbbbooooobboobooon
gogoooobbobob. bbobbbuooooobobooobooboobobbbb
go.

(27)

10



5.3 U000

gobobbbooooooobbbobobbboboo.obb,o0o0od
gboogbobuoobbodgboobobuoobboobooobob. oo
gobogo,0bboobobooobboboboobboobboon
gbogdgbooggbb,bugobbudbuogobboobbaon
ooooob.Oosel000d00db0O A AN=10000RDO0OO0OOOO
gbbbuoooobbbouoogobbboogl.

180 250

160
140 _
120 _— —

100 —

igma(B]
\

sigma(B]
\

80 // —

—~ 100 -
—~

60 -~

40 50

20

0 0
0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000

D [sec] D [sec]

050000 (k=0.2) 06: 0000 (k=04)

05600 )Mk DO00000000O00O0O000O0.00000 Mk D
0000000,0000056000000000000000000.
0000000000000000000000000000000. O
0000000000 ¢B]00O

AD12
Bl =,|—— 28
B =\ T (25)
O00000.05600000 (Q)00000000000.
gsetdonuooonobigoooonooooonooonn
dodoooooooooooo,oooooooogoooo,ooo
gooooooooobooonooooooooo.

54 0UO0OOOOOO

o780k, DO0000D00ODOODOO0OODODODLOODLOODLODLDODLOO
Ooooboooooobo.0coo,b0bgbog A a=100000000

11



gboogbobodgboob.bogbuoobubuabbooboobon
gobbbooooouoobbbbooooouobbbbo,odon
gbogboogbobooobooboooboooboo,bobogb
gboboboogobbboooobobboooooobon.

0.04

T T T T 0.014 -
nomal distribution @ nomal distribution — -

0.035 % , o012 o

0.01 |
0.005 -

function of probability of density

<
K2
0.03 | ¢ X 2 ﬁ%
& % é 0.01 09908 %°
0.025 ¢ % 3 % 0%
0.02 g 3 g oo o
02 | £
& % g be &K
0.015 |- & & & 000 o
& > 2 o,
pog < S
fo3 > S
& 2 3
S g

100 120 140 1
800 850 900 950 1000 1050 1100 1150 1200
packet number in buffer [packet] packet number in buffer

07 000000000000000 8 00000000000000
0 (k=0.2,D = 100) O (k=0.5,D = 500)

gbbbbuoooooobobbbbbbbbotodoooooaood
g, 0bbbbboddooooouuoob.ggooo,goooon
gdbbodododddooododdoooooooda,gogaaooooon
U—-cobDOOOO0OOODODOOOOOOODODDODODDOOOOOO. 0O
0,90%,99%,99.9% 00000000000000000000.000
Up, 00000c00000000O00OODOO0ODOOOO0ODOO0ODbDO0
o000 BO

ng.g = 3.100 + 1% (31)

00000.0000000000000000000000,0000
000000000000 000000000.0000,\kDOOO
000000000000000000.

09000000 A=10000FkD0O0009%0000000
0000000000000000. 0000,00000000 BO
Nk, DOOOODODDOODOODO.

00,0000000000000 BOOOOOOOO\kKDOODO
0000000000000 0000000000000O.

12



99%

60000
50000
40000 |
30000 |-
20000
10000 -/

09 k-D-BOOO

6 OUoogoond

goboboooboouogoobbbobbboodooooooboo
O.00,00000000000000000 Mk, DODOODOODOO
goboboooobo.bo,0boboooobboboogob.

6.1 UJUUoboooooobbod

00,00000000000000000000000 Dsec/packet]
000.000,000000000000000AkDOOOODOOO
000,00000000000000000000000000000
ooooo.

D(i,ak‘,aD) = aD(\ k, D) (32)
a

000,A=100000000000000000000000000
O0A=a0000000000.000 A=00000000 (32)00
A=100000000000.A=a000000 D(a,k,D)O0X=1
0000000000

D(a,k,D) = —D(1,ak,aD) (33)

QI



Oobob.00boobooboboooboo A A=100000Db0000
go,0dddddoooooooobbbbobbbbbooooo.gn
Oooobobobobo A=100000,000000000D00O0O0O0.

6.2 UJUOOOO

OOobOoboooooboboo.obooboooob0obod MusyO O
Telatar OO0 DO OOOOODOOODOO.000,000000000000O
gooboogobbboooobobbooooob.

6.2.1 kDOOO

goboobooobuooobbogoob,bogboooboooon
obogboooboobodg. bobboobuodg B=10000000
000,99% 0000000000000000k DOOOODODODODODO
00 30)0000,010000. 0000000000O0DOOOO0O0
oboooboooooboobg e DOODDOO.

5000 T
safty of buffer 99%

4000

3000

D [sec]

2000

1000

0 0.2 0.4 0.6 0.8 1
k [sec/packet]

0 10: :--DO0O 0O

14



000,0100 (k,D) 0000000 (1,00)0000000000 .k>1
o000, pOob00b0b0oobooboooooonDonDgon <10
gobbooobo.0bbb,gobbbobbbuodooooobbbo
go,b0boggoobbboogooobob,obbbuoooooboo
OooooboboboobobgoD. k<100, pOobOobDonOOg
guobbogbbgob.ogbo,googbogboobboboboood
gbooboooogn

D D
lim ik _ lim ( + k) =k  [sec/packet] (34)
n

n—oo n n—oo

0000,p0000000k000000.000000000000
0D000,k<1000000000000000000. 000000
0,k,D)0000000 (1,00000.

6.2.2 0D0O0O0OO0

000000000000.000000000 B=1000000,00
0000 A=100000.00000100000000000000
(k,D)0000,(k,D)0000000000000 DOOOOD.O0O0O
000 1000000000,000000000000. 010000000
00000000,4000000000POO0OOOOOOOOO000
00000. 0000 (17)00000000000000000000.
0000000000000000000,000000000000
0000000000000.00,0000000000000000
0000000000000. 00000000 (1700000000
0000,000000000000,000000000000000
oooooooo.

6.2.3 0DUO0O0OO0

00,k DO00O000O0D, 000000000000 12,13,14,150
00.01200,00000000000000.0000000000
00k DOOOOOODD,00000000000000000O000
0000000,00000000000000000000000. 0
13,1450 000000000000,00000000000000.

15



7000
6000
5000 | 7

4000

delay [sec]
N

3000 f >/<
k=0.01 theory ——
k=0.01 experiment <
k=0.1 theory ----- 1
k=0.1 experiment +
k=0.5 theory —---
k=0.5 experiment O
k=0.9 theory — -

2000

1000 |/

k‘= 0.9 experiment R

500 1000 1500 2000 2500 3000 3500 4000 4500
D

g 11: oggd

7 0o

gbbobooggbbbooobboooobboboooobobooon.
gboogbooboobobdobdodgboa,gbogbooboa,bon
gboboobbooobboo,gobbooobbuoobboobogn
oooobo.booooooobooboo, e, DODODODODOOODOO
gogbobobobobobobbbbbbobbboooo,bbbbbbbobbn,
gobbbbbboouoooobobbbooooooa.boa,bbo
gbooobuoobuooboogobogooboobboobb,bbodgb
Oobooboobooooboooo.obooboobo BO Ak DOO
oooboboobooo,ooboboboboooobo pOoboooogon
ONEDOODDODODOOODOOO0OOODLOOODOOOOODbO0O0OOODOO
go.

gbboobobbuooobboodbbooobboodobb,boo
gboboboogobbboog.gbobo,bbogogbbboogob
gobbbbbobouooooodoobb.og,ouoooooobbbo
O0000O00o0oo0oo0ooooo.0oo0 (Inooooooooo
gbobo,gbbbbouooobbb,boooobbobbduoaabbn

16



function of probability density

function of probability density

70 0.1
0.09
60
0.08
=
50 g o007
]
2
40 £ 0.06
K
S 0.05
30 >
k] 0.04
c
2
2 g o003
2
0.02
10
0.01
0 0
0.50.60.70.80.9 1 1.11.21.31.41.51.61.71.81.9 2 2.12.22.324252.62.72.82.9 3 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
delay [sec] delay [sec]

012200000 (k=0.1,D=1) 0O 13: 00000 (k=0.1, D=10)

35 0.06
3 0.05
2
25 a
S 004
2
2 3
@
S 003
15 by
5
c
S 002
1 g
2
05 0.01
W .
0051 152 25 3 35 4 455 556 657 75 8 85 9 9510 10 15 20 25 30 35 40 45 50 55 60
delay [sec] delay [sec]

0 14: 00000 (k=0.5,D=1) 0O 15: 00000 (k=0.5, D=10)

17



gboooggo.

00o000ooo,0(17)00oo0o0oooooooooooooo
gobb,0ogo0gbbobobbodougoga,bboouogoobbbo
gobobbboooogobobbbbbboodooooooobboo
goo.

0O

gobobooboboogog,bboudgooooobboobbboag,n
gbbboooobbbuoooobbboooobobboooabn.

Ooon

[1] Stephane Musy, Emre Telatar,“On the transmission of bursty
sources,” ISIT 2006, pp.2899-2903, 2006.

[2] Dimitri Bertsekas, Robert Galager, Data Netwarks, Prentice Hall,
1987.

18



	1 ‘ŸŸ_
	1.1 „¤‰ƒ‡Ìﬂw„i
	1.2 „¤‰ƒ‡ÌŒÚﬁI
	1.3 Œ{Ÿ_Ł¶‡Ì“’¬

	2 ”À„±„´Šš
	2.1 …|…A……ﬁŁªŁz
	2.2 …|…A……ﬁﬁž™–
	2.3 ”w’ﬂŁªŁz
	2.4 …−…g…‰‡Ì™èŠš

	3 …V…X…e…•‡Ì…t…„†[…•…‘†[…N
	4 Łs‰K‚¥‡Éﬁž™–‡·‡é…p…P…b…g‡Ì‚Î‘‹Œ@
	5 ﬁ`‚Š…V…X…e…•‡Ì’Ý„vŁûŒ@‡Ì™ñ‹Ä
	5.1 …o…b…t…@ﬁà‡Ì…p…P…b…g’ﬂ‡Ì…V…~…–…„†[…V…⁄…ﬁ
	5.2 −ú‚Ò™l
	5.3 ŁW‘•ŁÎ“·
	5.4 …o…b…t…@‡Ì’Ý„v

	6 ™x›—‡É−Ö‡·‡é“l”@
	6.1 ‚Š’M…V…X…e…•‡Ì’«ﬂ‡Æ”ž−Ô‡Ì−Ö„W
	6.2 ™x›—‡ÌﬁÁ’«
	6.2.1 k,D‡Ì‘ã−E
	6.2.2 ™x›—‡ÌﬁÁ’«
	6.2.3 ™x›—‡ÌŁªŁz


	7 „‰Ÿ_

